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QUESTION 1

What is the purpose of the System Assurance Document?

A. to ensure accurate and complete record of pre-installation data

B. to guarantee that HDS equipment is insured during transportation

C. to inform a channel partner that equipment is available for shipment

D. to validate configuration changes for customers with a premium service contract

Correct Answer: A

QUESTION 2

Which two components are part of the VSP HiStar-E architecture? (Choose two.)
A. MCH

B. BED

C.HDD

D. SVP

Correct Answer:. AB

QUESTION 3

You arrive on site to work on a VSP system and observe that the front panel "Message" LED is on. What does this
indicate?

A. HiTrack is not configured.

B. The SVP is in Modify mode.

C. ASIM is pending.

D. Remote maintenance is being performed on the system.

Correct Answer: C

QUESTION 4

What is the maximum number of Cache Logical Partitions in a VSP with 18 GB of usable cache?
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A.3
B. 4
C.6
D.9

Correct Answer: B

QUESTION 5

The SVP has failed on a VSP and you have ordered a replacement.

Which functionality is still available while waiting for the new SVP to arrive on site?
A. Configuration changes can be made using raidcom commands.

B. Hitrack can continue monitoring the VSP and report errors.

C. Configuration changes can be made using HiCommand CLI.

D. Shadowlmage pairs can be managed with RAID Manager/CCI.

Correct Answer: D

QUESTION 6

A customer wants to migrate data from a USP to a VSP. For doing so, you recommend that they virtualize the USP
behind the VSP as external storage. Which host mode should you set on the USP?

A. Linux

B. External
C. AIX

D. Windows

Correct Answer: D

QUESTION 7
A customer wants to create a new CLPR in their VSP.

Why would you recommend performing this change during a period of low activity?

Latest HHO-210 Dumps | HH0-210 VCE Dumps | HHO-210 Braindumps 3/6


https://www.pass4itsure.com/hh0-210.html
https://www.pass4itsure.com/hh0-210.html
https://www.pass4itsure.com/hh0-210.html

VCE & PDF https://www.pass4itsure.com/hh0-210.html|
a 2024 Latest passditsure HH0-210 PDF and VCE dumps Download
== / PassditSure.com

A. Because all Host I/Os must be stopped when resources are migrated to the new CLPR.
B. Because adding a CLPR may take a long time and can impact production.

C. Because the LUNs to be moved to the new CLPR must be unmounted or unmapped.
D. Because the VSP cache is in Write Through Mode during the creation of new CLPRs.

Correct Answer: B

QUESTION 8

You have set Extended Round Robin in Hitachi Dynamic Link Manager (HDLM) running on a server with intensive
sequential 1/0 profile. Which two benefits result from implementing this algorithm? (Choose two.)

A. tracks preloaded to cache

B. blocks held permanent in Read Cache

C. no tracks preloading on the system

D. efficient cache usage on the storage system

Correct Answer: AD

QUESTION 9

What are two effects of configuring LUN security on a VSP? (Choose two.)

A. The secured LUNs will be write protected.

B. Un-registered Open Systems hosts cannot access the data on the secured LUNSs.

C. If LUN security is applied to a particular port, only hosts with the same operating system installed can connect to that
port.

D. If LUN security is applied to a particular port, that port can only be accessed from hosts registered within this port\\'s
Host Groups.

Correct Answer: BD

QUESTION 10

A VSP managed by the Hitachi Command Suite (HCS) is indicating a SIM and you want to investigate the possible
causes. From which location would you obtain the detailed SIM information?

A. the SVP Diagnosis screen
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B. the SVP Information screen
C. the Storage System Information report on the HCS Dashboard
D. the Storage System Alerts report on the HCS Dashboard

Correct Answer: B

QUESTION 11

Your customer wants to connect multiple servers with different operating systems to the same port on a VSP. What is
the first step when configuring the port?

A. Map a LUN.

B. Register a WWPN.
C. Enable Port Security.
D. Create a Host Group.

Correct Answer: C

QUESTION 12

What is Hitachi Data System\\'s recommended practice for zoning?
A. port-based zoning

B. zoning is optional

C. single HBA zoning -- one HBA per zone

D. single operation system zoning -- all HBAs from one OS in a zone

Correct Answer: C

QUESTION 13

Hitachi Dynamic Link Manager (HDLM) has been configured on a Solaris 10 server with 10 LUNs across two paths. You
want to verify the number of LUNs and the path assignments. Which command would you use?

A. dinkmgr check -path
B. dinkmgr view -path -c

C. dinkmgr disp -lun -path
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D. dinkmgr show -stinfo -t

Correct Answer: B

QUESTION 14

Which method is used to assign an LDEV to a VSD when it is created?
A. horizontal

B. round robin

C. sequential

D. vertical

Correct Answer: B

QUESTION 15

A customer wants to centrally manage their multipath software installation using Hitachi Global Link Manager (HGLM).
What are two server requirements before proceeding with the HGLM installation? (Choose two.)

A. Stop security-monitoring programs or virus detection programs.
B. Install the Hitachi Command Suite on the server.

C. Ensure port number 162 is not being used by another product.
D. Ensure port number 182 is not being used by another product.

Correct Answer: AC
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